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Hasddy HafEY
x 244 A (= 3 3 = 24X AlQl (=33
i =otARolA o 0oL Bl i It AR oA o0 Al = i
oy A =oH A (A-B) (%) o A oy A (A-B) (%)
=M (A) TAd| =4 (B) T FH4(A) M| = (B) A
AHEFEE Q) 1 0.00% 1 0.00% % AEFERH| x| & 1 0.00% 1 0.00% %
XeZ = 3,424,697 | 94.51% 5,080,000 | 99.50% | 41,655,303 N 32.58% x| ZAtE| X| & 2,928,600 | 80.82% 3,156,000 | 61.81% N227,400 ANT7.21%
:_; LAY =< 173,253 4.78% 3 0.00% 173,250 5775000.% ;f U ARG x| & 173,251 4.78% 1 0.00% 173,250 17325000.%
-3 k-4
= Mel 2 7|182E £ 3 0.00% 3 0.00% .% = ukatz|e| X|& 5,600 0.15% 5,600 0.11% %
E'i 2 2,000 0.06% 2,000 0.04% % Z‘j 29y X|& 1 0.00% 1 0.00% %
o = smsHHES 10,000 | 0.28% 10,000 | 0.20% %
offH|d| 10,000 0.28% 10,000 0.20% %
Al 3,599,954 | 99.35% 5,082,007 | 99.54% | 21,482,053 £29.16% A 3,127,453 | 86.31% 3,181,603 | 62.32% £54,150 A1 7%
= =
Xt SRR 222 1 0.00% 1 0.00% % Xt NS T PN 1 0.00% 1 0.00% %
g g
= SERIAOHZE 2 1| 0.00% 1| 0.00% % = SURIE SR E 496,097 | 13.69% | 1,924,000 |37.68% | 1,427,903 AT4.22%
‘i—i 7|EH| RS 2 =2 1 0.00% 1 0.00% % i‘j 7| EfE| RERAE SX| & 1 0.00% 1 0.00% %
= [=]
;5 Al 3 0.00% 3 0.00% % ; Al 496,099 | 13.69% 1,924,002 | 37.68% A1,427,903 ANT74.22%
| y
= 21 Xt 1] 0.00% 1 0.00% % 2 2xf ol Abst 1 0.00% 1 0.00% %
k-4 k-4
s s
3 71232 =g 1] 0.00% 1 0.00% % 5 72229 vtk i 0.00% 11 0.00% %
:j Al 2 0.00% 2 0.00% % Zr Al 2 0.00% 2 0.00% %
7|x2| 3 Z 23,596 0.65% 23,596 0.46% % J|se| H2 1 0.00% 1 0.00% %
sz 7 4 3,623,555 | 100.0% 5,105,608 100.0% 1,482,053 £229.03% =z 7& 34 3,623,555 100.0% 5,105,608 | 100.0% 21,482,053 229.03%
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(&9 @ &EJ)
= g | g=x = St o
& | = | = 0l &k o8 0 &t o8 B gEUs
| . 29¢H 3,599,959 5,082,012 21,482,053
1. SHESCOZ Qs 32N 3,599,954 5,082,007 21,482,053
W CEECEEERE] i i SRS 1,000
- MAXES 1,000
* 20203 HHE XRAZBLE SHSFUN Ol &N 1,000
2) NS 28N 3,424,697 5,080,000 21,655,303
IME=2C3e: el 5,000,000,000
- HE2UESEAMI]ANY 178 3,500, 000,000
- H2USEAXI]AAY 3RE 1,500,000, 000
JIEHKIEZ = 80,000,000
- 20208 ZMAELAEZIH LB XA 40,000,000
- 2020 S2ESTAS T20Y 40,000,000
* 20208HSE NHI4 BISYY ooy 5,080,000, 000
<XNJAS42 HIFUH FAHLD>
AR
- 2SS AMXRAIY 2ZH
ImE=Joge: Rl 3,395,697,000
- HSUSEAMXIAAYE 178 2N A1,140,200,000 2,359,800,000
- MSUSSEAMTJAAY 378 24N A568,050,000 931,950,000
~ e HIHHDE 212 XA sH 103,947,000 103,947,000
JEIKIRAZ = 29,000,000
- 20208 2XMAEAEEH WEXNIAAY 2N 211,000,000 29,000,000
- 2020 22 TFAS T2y 2N £40,000,000
*x 20203 HME X222 HSRUN FIOHEE Ol At 3,424,697,000
3) 2@ HIS= BMSYH 173,253 3 173,250 A&t 2 A 2 4=2) 1,000
- SEX 1,000
J|EHAIEHE & 40 1,000
- WSEX 1,000
JIEIKI A2+ 1,000
- WSEX 1,000
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JIEIXI A S A
- JIEHXI R SAL I

= =3 gz =
= of o of o =g & EUS
* 20203 HHE J |22 X OlAH 1,000
3,623, 554 5,105,607 A1,482,053
 Sawzscz ow sogEd 3,127,453 3,181,603 A54, 150
AFEHE ou 1 1 JIEtAEHE Y| 1,000
- J|EFAIEHE & |
BISEX 1,000
* 20203 HHE LtSHESEH HSRE 1,000
H 2,928,600 3,156,000 2227 ,400
29| 1,656,000,000
- Q| 455,000,000
HEUHEEAMXIZAIY 198 400,000,000
HEUESHAMXRAANY 35E 50,000,000
IHHAHZHDE NRAY 5,000,000
- WL 96,000,000
HEHSEAMX A 198 51,000,000
HSHESEAMXAIY 388 45,000,000
- ez 45,100,000
HEHSEATRAY 198 35. 100,000
M2UHESHAMXRAAY 37E 10,000,000
- AEASH 190,200,000
HEUSS AT ALY 198 175,000,000
HEUESHAXIAY 39S 15,200,000
- JIElnE|29H| 869,700,000
MEUHEH AR AL =] 493,700,000
MEBUHEHAMXIAAL 3°§ 301,000,000
2019¢ IHIFAEZIH » 35,000,000
20198 2=2Y SEES 40,000,000

1,500,000, 000
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HEUHESEAMTAY 198

1,050,000,000

HI2UESEMIIAMNSY 3RE 450,000,000

* 20203/ HIHE KI@SALSHI 3,156,000,000

KNS+ SSKEY FF0

ns23l
- 2l 587,400,000
HEZUEHAXZEAMY 198 A 41,500,000 441,500,000
HZUHESEMIIAMNY 3RE EH 93,900,000 143,900,000
SHELAHCIO NI XRAIY 2 23,000,000 2,000,000
- UFHFHE 115,250,000
X*-?-EHS“QC'XIEA}% 178 3% 32,400,000 83,400,000

SHESHAT ALY 378 2N 413,150,000 31,850,000

- ’éi’-;‘ 28,350,000




= =
La +d 4= (a)z o E
2 a8 = O & O &t
HEHESEAMXIAIE 198 2H 228,750,000 6,350,000
HEUHESEAMXBAY 378 BN 12,000,000 22,000,000
- A8 A S 192,900,000
HEZUESEAX A 1928 2H 800,000 174,200,000
HEUSSAXRAIY 388 =H 3,500,000 18,700,000
- JIEln=2E| 341,290,000
HEUESEAMXRAIY 188 2N A317,600,000 176,100,000
HEUEE AT ALY 371—'@ 2o A 162,810,000 138, 190, 000
20208 D MIBAECICH LS ARAIY 24H A8,000,000 27,000,000
20208 22g s Asts HEJ% zho 240,000,000
- JIEIKIR S AL I 1,663,410,000
HBUESHAXRAIY 178 SN 47,800,000 1,097,800,000
HE2UHEEAMXIAY 398 SH 69,210,000 519,210,000
e HWHNS 212 XA S 46,400,000 46,400,000
* 20203 HIHE KIRSAIEH SHSSEH F=IIEE oot 2,928,600,000
3) 2tEH| AIHl BE2SEN 173,251 1 173,250| & 2 XI & bl 1,000
- AYHEH E= ARG 2H|
WEEX| 1,000
* 20203 A 2HEHIAISH| SESSEN 0 At 1,000
<2tZH| Al B2RENU FIZEFH0LD
NS NRSAL
- JIEFXI2HI 173,250,000
MEUESHAMXIANY 198 SNH 124,200,000 124,200,000
HEUSSEAXRAIY 388 =H 49,050,000 49,050,000
*x 20203/ HIHE 2tEHIAIEH SSREN F=IIEE oo 173,251,000
4) LELAEIH B29EY 5,600 5,600 Bkt 2| | 5,600,000
- BHHIZ I
(0: X[ ImE=1.] 500,000
nE&| 500,000
A2 EH| 200,000
o=y 300,000
312yl 200,000
RS
NEES-ESS-] 2,500,000
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= = 3
L& *d == =(a)2 S4B
2+ 3 = ol & of &
EESS 500,000
MBS 500,000
Tl 200,000
JlEr2 eSS | 200,000
* 20203 H G UERAZ|Hl SHI2KEM 0f AtH 5,600,000
5) SYUHIE H2REY 1 1 LT 1,000
- A=2EX 1,000
* 20203 HE SHAHIE SHSREY oAt 1,000
6) BN NTE2 B2 10,000 10,000 EnEPEED 10,000,000
- StH3HEES 10,000,000
*20203 HHE EUFHEES SSEEN oot 10,000, 000
7) olldlgl 10,000 10,000 (0:{{=]}]] 10,000,000
- ollgldl 2= 0f| AFH2| 1% LH2 10,000,000
* 20203 HIH S OllHId| Ofl AreH 10,000, 000
2 EXEEOZ od 320EY 496,099 1.924.002 | ~1.427.903
1) EXXAKS 1 1 S5 NNES 1,000
A=sEX 1,000
* 202038 H A SEXXAXIE Off At 1,000
2) SEIHSIE 496,097 1,924,000 N 1,427,903 SEEHSIE 1,924,000,000

- JADIPHSEXE
- ZIIHIEFSKE

* 20203 HAE REIMFHSXE O &Y

1,300,800, 000
623,200,000

1,924,000,000

RENMHSENE FIHBE 0llatH 486,097,000

- JADIRHSNE A £909,970,000 390,830,000

- ZIHIEFHSNE TH 517,933,000 105,267,000

* 20208/ HAHE REIMFHSE O &N 496,097,000

3) JIEHHIRSIHMHSIIE 1 1 JIEHHIRSHFHSKIE 1,000
- WEEX 1,000

* 20208/ H AT JIEHHIRSUHAFHSXE O &Y 1,000

3. HRES2Z 2t B3REY
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o= = gx
by S(a)2 b =
2 | = o &4 o ol &t o4 =(al &EU Y
1) 2IHol Ats 1 1 JEIRSRIHO 2AN 1,000
- W2EX 1,000
* 20208 AT SR ArE Of Aty 1,000
2) J1239 grat 1 1 ELPIEETIREIPN 1,000
WSEX 1,000
*20203| NI D2 3ErE OlAFNY 1,000
n. 839 82 A23,595 A 23,595
V. JIx9 X3 23,596 23,596 DI=s xi=]
IZRENS Ol 26,700,000
IEZSSEH ol 3,104,000
IUNBOIEZERSKE - IELELH) 23,596,000 il 23,596,000
V. Jlgena 1 1 CoEy sy
LRSS 1,001,008 — @ 1,001,000
(X101 B SHIEISHE N S)
ILRER 1,000,00080 — @ 1,000,000
(O1Z GI2=SOIARSH+I| 2 Z B0l AKX S U+ D E LY
AN (D -@ ) 1,000
X2 +¢ - XNEH 3,623,555 5,105,608 21,482,053 3,623,555,000
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